
You need to solve two steps to answer each
question. You might need to add or subtract.

Write your final answer in the box.

Name:......................
Date:........................
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There are 40 party hats. 15 are used. 6
new ones are added.

 How many hats are left?

There were 30 cupcakes on the table. 8
were eaten by guests, and 5 more were

added later. 
How many cupcakes are there now?

Lucy received 10 gifts. She gave 3 to her
cousins and then got 4 more from friends.

How many gifts does Lucy have now? 


